
Assembly Instruction for Outdoor Storage Shed

PC
Stamp


PC
Uvoznik za Srbiju: TermoPool d.o.o BeogradDistributer za Srbiju: Hidroterm Grejanje i Bazeni d.o.o.



A×1 B×1

C×1 D×1

E×1 F×1

G×1 H×1

I×6 J×1 K×1

M2×1

N×2 O×

P×11 Q×8

M5×12

M6×20 M4×16

M1×1

1

32

PC
Stamp




A×1 B×1

E×1 F×1

C×1 D×1

G×1 H×1

Packing List Box B

Packing List Box A

I×6 J×1 K×1

N×2 O× Q×8P×11

M6×20M5×12 M4×16

ASSEMBLY  INSTRUCTION

2

M2×1M1×1

32

PC
Stamp




STEP1 STEP2

STEP3 STEP4

B

A

P

H

A

B

H

B

B

P

A

B D

H

H

D

P
A

C A

B

D

H

H

C

A×1
B×1
P×3 H×1

D×1
P×4

C×1
P×4

A

B

3

PC
Stamp




STEP6

STEP7 STEP8

O

I

E

E

F

K

F

Q

O

G

A

C

G

O

I

G

G

Q

J

G

O

I

F

G×1
I×2
O×4

J×1
Q×2 O×4

E×1
I×4
O×8

F×1
K×1
Q×2

STEP5

M1×1
M2×1
×8

M1

M2

M2

M1

4

O

O

O

O

O
O

O

PC
Stamp




STEP9 STEP10

STEP11 STEP12

Q
Q J

F

F

F

D

F

O

Q
Q

K

H

I C

E

E

C

J×1
Q×2 O×4

K×1
Q×2

O

O×4

5

PC
Stamp




STEP13

STEP14

H

N

N

N×2

LOCKING NUT

If you need to adjust the
tightness of the support
rod-Loosen or tighten the
locking nut on the adjusting
screw.

6

PC
Stamp



